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B EERORT GRERX)
ER S S7457 A6 B20BEE
(BRI N)
WEETHE | SEA) | BE®) | S| mREAE | SEA) | WEB) | EEE
R7.7.6 R4.6.26 R7.7.6 R4.6.26
THE T g X 2,355 1,908 447 | 18 % 0T 298 272 26
THETAE R X 2,689 2,212 477 | SeHT 450 387 63
THETEEX 1,725 1,538 187 | ENFEARET 748 659 89
THETAREX 1,854 1,654 200
THE iRk X 1,956 1,565 391 | Aol AT 97 83 14
THETERRX 1,995 1,748 247 | & AT 166 217 -51
FERE 12,574 10,625 1,949 [ FUEHRT 196 212 -16
Bk 918 979 -61 | FEREBET 459 512 -53
i)l 8,060 6,770 1,290
kE T 8,660 8,560 100 | JutJuELHT 213 228 -15
fE 1L 1,084 1,012 72 | ZLET 65 51 14
A 2,047 2,608 -561 | BEZOGHT 289 298 -9
Rl 1,575 1,703 -128 | WK ERET 567 577 -10
B H 1 3,099 1,356 1,743
ST 1,308 1,363 -55 | —EHT 201 178 23
J& H i 912 1,245 -333 | R AT 129 126 3
g 1,960 1,826 134 | BAEFM 248 334 -86
W 951 927 24 | B1-HT 164 190 -26
IEXGE] 223 675 -452 | FARHT 101 124 -23
BB 4,800 3,803 997 | FEEHT 132 118 14
Gishit] 5,660 2,717 2,943 | REARET 975 1,070 -95
Rl 225 186 39
il 1,799 2,219 420 | KZ =0T 131 150 -19
i L T 1,322 1,136 186 | fE1fEHT 67 99 -32
AN AMit] 1,619 1,363 256 | EPRABET 198 249 -51
bR alil] 1,547 1,509 38
&) 1T 468 495 -27 | SEEHT 120 173 -53
i vl 1,795 1,809 -14 | RE&RET 120 173 -53
FHET 801 2,102 -1,301
it 807 954 -147 | BTATEt | 3067, 3240  -173
liikzsit] 2,714 2,087 627
DU 1,202 1,288 -86 | B5t | 81062 73953 |  7.109
b i 1,345 1,270 75
I\ 879 914 -35
F e i 1,929 1,192 737
B 1,173 1,100 73
=N 806 814 -8
P BT 256 167 89
I BE 17 561 613 -52
T 855 814 41
i 419 654 -235
VA 640 759 -119
R E L 1,002 1,099 -97
itk 77,995 70,713 7,282
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(B A)
mRERE | sEW | wEm | BRE | sxeme | sma) | mEe) | HEE
R7.7.6 R4.6.26 R7.7.6 R4.6.26
TR RX - - — | I & FFET - - -
FEERERINX 1 - 1| ehT - - -
TETREX - 2 -2 | FREERET - - -
THENEEX 1 - 1
T X - 1 —1 | fHIgFET - - -
TELELERX - 2 -2 | T - - -
FEHE 2 5 =3 | JRERT - - -
b il - - - | EEERET - - -
i)l 2 1 1
A i 4 2 2 | JutJuBET - - -
1L - - - | 2 Ly - - -
AT - - - | BZOLHET - - -
T 1 1 - [ WECAREt - - -
5 1 1l - - -
SR - - - | —=n - - -
% M 1 - 1 | BERIT - - -
TR 2 - 2 | BAER - - -
e - - M i=Eal - - -
T - - - | BARHET - - -
BB 1 - 1| KEgnT - - -
it - : [ Eamat - - -
s T - - -
R - 1 -1 | KEZENT - - -
el 1 1 - [ f1EET - - -
NTFARTH - - - | EERARET - - -
B rm - - -
e 1| T - - - | SEEE T - - -
i vl - 1 -1 | REARE - - -
FEREN]7] - - -
& et - - - [Ersest | - | - -
izl - 1 -1
DU 3 T - - - |ms | 15 | 14 ] 1
Gt - - -
I\ i - - -
F e i - 1 -1
=PIt 1 - 1
EEM - - -
A B AT - - -
e - - -
=il - - -
[ - - -
il - - -
KEAHET - - -
itk 15 14 1
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(BRI N)

WEETHE | SEA) | BE®) | S| mREAE | SEA) | WEB) | EEE

R7.7.6 R4.6.26 R7.7.6 R4.6.26

THE T g X 2,355 1,908 447 | 18 % 0T 298 272 26

THETAE R X 2,690 2,212 478 | SEHT 450 387 63

THETEEX 1,725 1,540 185 | ENFEARET 748 659 89

THETAREX 1,855 1,654 201

THE iRk X 1,956 1,566 390 | febiley AT 97 83 14

THETERRX 1,995 1,750 245 | Z AT 166 217 -51

FERE 12,576 10,630 1,946 | HUEHRT 196 212 -16

Bk 918 979 -61 | FEREBET 459 512 -53

i)l 8,062 6,771 1,291

kE T 8,664 8,562 102 | JutJuEHT 213 228 -15

fE 1L 1,084 1,012 72 | ZLET 65 51 14

A 2,047 2,608 -561 | BEZOGHT 289 298 -9

Rl 1,576 1,704 -128 | WK ERET 567 577 -10

B H 1 3,099 1,356 1,743

ST 1,308 1,363 -55 | —EHT 201 178 23

J& H i 913 1,245 -332 | iR AT 129 126 3

g 1,962 1,826 136 | B4R 248 334 -86

W 951 927 24 | B1-HT 164 190 -26

IEXGE] 223 675 -452 | FARHT 101 124 -23

BB 4,801 3,803 998 | Kl 132 118 14

Gishit] 5,660 2,717 2,943 | REARET 975 1,070 -95

Rl 225 186 39

il 1,799 2,220 421 | KZ =0T 131 150 -19

i L T 1,323 1,137 186 | fE1fEHT 67 99 -32

AN AMit] 1,619 1,363 256 | EPRABET 198 249 -51

bR alil] 1,547 1,509 38

&) 1T 468 495 -27 | SEEHT 120 173 -53

i vl 1,795 1,810 -15 | RE#&RET 120 173 -53

FHET 801 2,102 -1,301

it 807 954 -147 | BTATEt | 3067, 3240  -173

liikzsit] 2,714 2,088 626

DU 1,202 1,288 -86 | B5t | 81077 73967 7110

b i 1,345 1,270 75

I\ 879 914 -35

F e i 1,929 1,193 736

B 1,174 1,100 74

=N 806 814 -8

P BT 256 167 89

I BE 17 561 613 -52

T 855 814 41

i 419 654 -235

VA 640 759 -119

R E L 1,002 1,099 -97

st 78,010 70,727 7,283
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(BRI N)
WEETHE | SEA) | BE®) | S| mREAE | SEA) | WEB) | EEE
R7.7.6 R4.6.26 R7.7.6 R4.6.26
THE T g X 2,355 1,909 446 | 8 % H0T 298 272 26
THETAE R X 2,689 2,211 478 | SEHT 450 387 63
THETEEX 1,725 1,539 186 | ENFEARET 748 659 89
THETAREX 1,854 1,654 200
THE iRk X 1,956 1,565 391 | Aol AT 97 83 14
THETERRX 1,995 1,748 247 | & AT 166 217 -51
FERE 12,574 10,626 1,948 | HUEHRT 196 212 -16
Bk 918 979 -61 | FEREBET 459 512 -53
i)l 8,061 6,770 1,291
kE T 8,663 8,563 100 | JutJuELHT 213 228 -15
fE 1L 1,084 1,012 72 | ZLET 65 51 14
A 2,046 2,608 -562 | BZOGLHT 289 298 -9
Rl 1,575 1,704 -129 | WK ERET 567 577 -10
B H 1 3,099 1,356 1,743
ST 1,308 1,363 -55 | —EHT 201 178 23
J& H i 912 1,245 -333 | R AT 129 126 3
g 1,960 1,826 134 | BAEFM 248 334 -86
W 951 927 24 | B1-HT 164 190 -26
IEXGE] 223 675 -452 | FARHT 101 124 -23
BB 4,801 3,802 999 | N 132 118 14
Gishit] 5,660 2,718 2,942 | REARET 975 1,070 -95
Rl 225 186 39
il 1,799 2,219 420 | KZ =0T 131 150 -19
i L T 1,322 1,136 186 | fE1fEHT 67 99 -32
AN AMit] 1,618 1,364 254 | EFRERET 198 249 -51
bR alil] 1,547 1,508 39
&) 1T 468 495 -27 | SEEHT 120 173 -53
i vl 1,795 1,809 -14 | RE&RET 120 173 -53
FHET 802 2,102 -1,300
it 807 954 -147 | BTATEt | 3067, 3240  -173
liikzsit] 2,714 2,087 627
DU 1,202 1,288 -86 | B5t | 81066 73959 | 7,107
b i 1,344 1,270 74
I\ 879 914 -35
F e i 1,929 1,192 737
B 1,173 1,100 73
=N 807 814 -7
P BT 256 167 89
I BE 17 561 612 -51
T 855 814 41
i 419 655 -236
VA 640 760 -120
R E L 1,002 1,099 -97
itk 77,999 70,719 7,280
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R7.7.6 R4.6.26 R7.7.6 R4.6.26
TR RX - - — | I & FFET - - -
FEERERINX 1 - 1| ehT - - -
TETREX - 2 -2 | FREERET - - -
THENEEX 1 - 1
T X - 1 —1 | fHIgFET - - -
TELELERX - 2 -2 | T - - -
FEHE 2 5 =3 | JRERT - - -
b il - - - | EEERET - - -
i)l 2 1 1
A i 4 2 2 | JutJuBET - - -
1L - - - | 2 Ly - - -
AT - - - | BZOLHET - - -
T 1 1 - [ WECAREt - - -
5 1 1l - - -
SR - - - | —=n - - -
% M 1 - 1 | BERIT - - -
TR 2 - 2 | BAER - - -
e - - M i=Eal - - -
T - - - | BARHET - - -
BB 1 - 1| KEgnT - - -
it - : [ Eamat - - -
s T - - -
R - 1 -1 | KEZENT - - -
el 1 1 - [ f1EET - - -
NTFARTH - - - | EERARET - - -
B rm - - -
e 1| T - - - | SEEE T - - -
i vl - 1 -1 | REARE - - -
FEREN]7] - - -
& et - - - [Ersest | - | - -
izl - 1 -1
DU 3 T - - - |ms | 15 | 14 ] 1
Gt - - -
I\ i - - -
F e i - 1 -1
=PIt 1 - 1
EEM - - -
A B AT - - -
e - - -
=il - - -
[ - - -
il - - -
KEAHET - - -
itk 15 14 1
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BRI RER O (LHIRR)

ERN+7ES S7457 A6 B20BEE
(BRI N)

WEETHE | SEA) | BE®) | S| mREAE | SEA) | WEB) | EEE

R7.7.6 R4.6.26 R7.7.6 R4.6.26

THE T g X 2,355 1,909 446 | 8 % H0T 298 272 26

THETAE R X 2,690 2,211 479 | SEHT 450 387 63

THETEEX 1,725 1,541 184 | ENFEARET 748 659 89

THETAREX 1,855 1,654 201

THE iRk X 1,956 1,566 390 | febiley AT 97 83 14

THETERRX 1,995 1,750 245 | Z AT 166 217 -51

FERE 12,576 10,631 1,945 | FUEHRT 196 212 -16

Bk 918 979 -61 | FEREBET 459 512 -53

i)l 8,063 6,771 1,292

kE T 8,667 8,565 102 | JutJuEHT 213 228 -15

fE 1L 1,084 1,012 72 | ZLET 65 51 14

A 2,046 2,608 -562 | BZOGLHT 289 298 -9

Rl 1,576 1,705 -129 | WK ERET 567 577 -10

B H 1 3,099 1,356 1,743

ST 1,308 1,363 -55 | —EHT 201 178 23

J& H i 913 1,245 -332 | iR AT 129 126 3

g 1,962 1,826 136 | B4R 248 334 -86

W 951 927 24 | B1-HT 164 190 -26

IEXGE] 223 675 -452 | FARHT 101 124 -23

BB 4,802 3,802 1,000 | EEEHT 132 118 14

Gishit] 5,660 2,718 2,942 | REARET 975 1,070 -95

Rl 225 186 39

il 1,799 2,220 421 | KZ =0T 131 150 -19

i L T 1,323 1,137 186 | fE1fEHT 67 99 -32

AN AMit] 1,618 1,364 254 | EFRERET 198 249 -51

bR alil] 1,547 1,508 39

&) 1T 468 495 -27 | SEEHT 120 173 -53

i vl 1,795 1,810 -15 | RE#&RET 120 173 -53

FHET 802 2,102 -1,300

it 807 954 -147 | BTATEt | 3067, 3240  -173

liikzsit] 2,714 2,088 626

DU 1,202 1,288 -86 | B5t | 81081 73973 7108

b i 1,344 1,270 74

I\ 879 914 -35

F e i 1,929 1,193 736

B 1,174 1,100 74

=N 807 814 -7

P BT 256 167 89

I BE 17 561 612 -51

T 855 814 41

i 419 655 -236

VA 640 760 -120

R E L 1,002 1,099 -97

st 78,014 70,733 7,281




